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2 i IESE ANV E DR /N6 3/ 4 1:04.00 30.53 9% ( 0.73)
3 HH  BEK VASZN %] o = B NG 5/ 3 1:05.16 30.61 9%k ( 0.60)
4 TR KHE IS C NG 4/ 1 1:06. 48 31.51  T#k ( 0.64)
5 Hig K J S SiFH NG 6/ 5 1:06. 68 31.20  7#% ( 0.57)
6 =R KT AV N V) 1:06.72 3.79 8% ( 0.66)
7 R == SAY—F N6 T/ 1 1:06. 77 31.46 7% ( 0.67)
8 B REZIT ANV B DR NS 4/ 8 1:06.97 32.72  10#% ( 0.65)
9 PP EF JFFIA /NG 5/ 6 1:07. 32 32.50  8#% ( 0.63)
10 7K FE J'S S&EW /N5 5/ 5 1:07. 86 32.71  10#% ( 0.73)
11 @)1 A AM/RLBRIRAE /N 4/ 7 1:07.98 32.44  9#% ( 0.68)
12 JilE  KzE AVIE3 NG 4/ 5 1:08. 63 32.80  8#% ( 0.69)
13 AfR3E KER AoV s D AR NG 2/ 5 1:08.75 31.59  8#k ( 0.69)
14 FH T/ N IVEEE NG 3/ 2 1:09.93 33.72 T#k ( 0.67)
15 HfE CRER J SSiEH /N5 3/ 6 1:10.55 34.03  9f% ( 0.74)
16 NH =E7& SAY—F /N6 4/ 4 1:10. 68 33.86  T#k (0.74)
17 /NHAE il Ahe/RLBRAE T /N 5/ 1 1:10.79 33.31  T#k ( 0.64)
18 FIg Z i pZH{ /NG 2/ 6 1:11.23 33.71  8#k ( 0.62)
19 ARH e oty AN S /INB 3/ 7 1:11.30 33.85  8#k ( 0.61)
20 JIfE By AVIEEIPN /N6 3/ 1 1:11.86 34.22  6f%k (0.69)
21 HAk F8f J S SiEH /NG 3/ 8 1:11.90 33.66  8#% ( 0.67)
22 AR R Z i p¥E /N5 2/ 3 1:12. 1 34.28  8#k ( 0.64)
23 NNfE R N—27SC /NG 3/ 5 1:12.74 35.44  6#% ( 0.83)
24 HI1  H# N—27SC /N6 3/3  1:13.05 34.60 6% ( 0.80)
25 JEE B 2a—LFE /M 2/ 4 1:14.05 35.37  7#k (0.76)
26 Hm BRI JSSHWVE /5 2/ 2 1:17.78 36.78 6% ( 0.78)
27 /NHAI— B VN W7 il RV 1/ 4 1:18.85 36.47 Tk ( 0.72)
28 FRAHIE 2 4 T SSHWVE /3 2/ 7 1:20.20 37.79  10%% ( 0.76)
29 Nk RS Ty bIVERL /N4 1/ 3 1:21.16 38.13  T#k ( 0.82)
30 HfE KB AV BE DR /N4 1/ 5 1:25.59 40.81  5%% ( 0.79)
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1 BH —B o AL 3 19/ 2 55.16 26.38  10#% ( 0.61)
2 (g BRI J S SiEH 3 19/ 3 55. 74 26.68 9%k ( 0.64)
3 R SPER SAYYT 13 14/ 5 56. 26 2756 8k ( 0.69)
4 FAERY  StA JFHYIA 3 16/ 7 56. 37 26.66 9% ( 0.62)
5 A gk AV B DRR F2 11/ 4 57.00 27.18  9%% ( 0.70)
6 Kz it J S SitH| 2 17/ 6 57.12 26.64  10%% ( 0.63)
7 PR %= Aa—=ba/n 2SS 13 13/ 7 57.73 27.20 8% ( 0.62)
8 JIE  KIF #IE S C F2 13/ 8 57. 84 27.83 8%k ( 0.68)
9 HE K A4 b~ HEE  F13 18/ 1 57.99 27.74  T#Hk ( 0.67)
10 BRF IS A b~ KfE  H3 16/ 4 58.17 27.90 8% ( 0.78)
11 AER s T7uaAHH 2 15/ 7 58. 71 27.99 9%k ( 0.71)
12 JK¥f Haiz AN DR 2 11/ 6 58.73 28.30  9%% ( 0.58)
13 &mHF =i J S SEH 3 10/ 4 58. 87 28.37  8#k ( 0.73)
14 F=H =N A4 F~UEEE F2 16/ 6 58. 95 28.40  9f%k ( 0.61)
15 i R fhev/kLigdb i #2010/ 1 59. 07 27.98  9#k ( 0.68)
16 HAy 5L J S SiEM 12 8/ 3 59. 11 27.69 8%k ( 0.63)
17 ez RS SAHZ F3 17/ 1 59. 23 28.27  8#% ( 0.68)
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22 HE £t Aa—LTEk #1311/ 3 59. 68 28.20 8% ( 0.60)
24 [k Z i pZ{ 2 9/ 6 59.93 28.49 Tk ( 0.67)
25 NN 1%k ARV 2 F2 13/ 1 1:00. 25 28.93 8k ( 0.70)
26 JRH FH =] S 3 16/ 8 1:00. 32 27.99  T#k ( 0.62)
27 b\ ST J S S{EH 3 13/ 6 1:00. 33 28.54  7#% ( 0.61)
28 O EE LS C 2 13/ 4 1:00. 52 28.88  8#% ( 0.64)
29 KiE A J S Sithl 12 7/ 4 1:00. 57 28.65 8% ( 0.70)
30 ZEH P FIIFE S C 2 11/ 1 1:00. 75 28.68 8% ( 0.68)
31 1T Al Z i pZH{U 12 7/ 7 1:00.76 29.34  8#k ( 0.64)
32 Wy Bk FHES C 3 14/ 6 1:00.79 28.65  T#k ( 0.59)
33 Ji BE—ER T7uARH Pl 12/ 2 1:00.94 28.62  9%% ( 0.67)
34 /NPEIR—ER SAH% 3 15/ 3 1:01. 26 29.25 Tk ( 0.71)
35 M e JSSERR  H1 8/ 6 1:01. 32 29.34 9%k ( 0.73)
36 gnk KA #I S C 1 6/ 7  1:01.76 28.80 9%k ( 0.60)
37T AR K SAYYT ] 9/ 7 1:01.82 29.67 9%k ( 0.73)
38 BR  ERMHE T/ M IVEE A B 2 10/ 5 1:01.91 28.90  7#% ( 0.70)
39 FEE P A4 h~UE H2 12/ 3 1:01.96 29.49 7% ( 0.75)
40 KVE  BEFAH RS C H12 9/ 5 1:02. 06 29.57  T#k ( 0.72)
41 4 HER FIEE S C 12 8/ 1 1:02.13 30.25  T#k ( 0.73)
42 % FEE JSSHWHE 2 7/ 8 1:02. 25 28.90  TH: ( 0.67)
43 EH o FnE I D AR F3 11/ 7 1:02. 66 29.68 5%k ( 0.67)
44 v HEE JF A 1 8/ 5 1:02. 67 29.72 9%k ( 0.72)
45 FR %t Aa—LTF 3 10/ 7 1:02.94 29.65  58% ( 0.66)
46 (L Fl JFHE A H3 8/ 7 1:03.05 30.23  6#% ( 0.67)
47 )11t A ER o I FALEE 3 9/ 3 1:03. 24 30.31  6%% ( 0.68)
48 FHH H A Ty M IVEHEL Ml 9/ 2 1:03.59 30.32  8#%k ( 0.62)
49 EA)INSCER FRHES C 13 8/ 2 1:03.72 30.17 6% ( 0.66)
50 &5 7 A4 b~ HEE 1 7/ 2 1:03.90 31.65  8%% ( 0.78)
51 1k 1B T/ NV S 3 7/ 6 1:04. 08 30.56  6f% ( 0.66)
52 M = Aa—LTE  Hl 5/ 2 1:04.12 29.63 8% ( 0.69)
53 T B 1FD AR H12 6/ 6 1:04.19 30.48 7%k ( 0.68)
54 BiTHE KFn Z2a— LT H2 6/ 1 1:04.50 30.25  6f% ( 0.70)
54 &M £ AN/ ALIRIRAE 2 6/ 4 1:04.50 30.08  68% ( 0.69)
56 BRI KHL Z i p Rk 2 9/ 4 1:04.82 30.13 6% ( 0.73)
57 [H {1 TT R/ MR 13 8/ 8 1:05.18 29.53  5f% ( 0.75)
58 AdlE  u J S STEH 1 5/ 8 1:06.18 31.19  T#k ( 0.65)
59 R AN V7" F7 43/ M il 7/ 3 1:06. 30 31.25 Tk ( 0.61)
60 g K AL )7 G740 H2 6/ 8 1:06. 47 31.23 6%k ( 0.80)
61 A Kith Ty N IVEE] 1 5/ 4 1:06.53 31.76  T#k ( 0.75)
62 JUHE FHZE SAYYT ] 6/ 2 1:07.24 3.3 T#k ( 0.76)
63 Ve i AR S A= 1 5/ 7 1:08. 54 31.66 68% ( 0.64)
64 5 TEH Z2a—L TR Hl 4/ 3 1:10. 40 33. 45 58% ( 0.65)

No. 64 ¥ 100m BEH# & £ 50.50
£ BR&E >

B K 4 ir B 2E KK = 50m

HAOBRME: 5H16H 11:22



Hooml ke ¥ o = 7 BNEFHE KK RS 3/3

1A . 202245 H 14H () ~5H15H (H) 2 A IR R A EEI AR K EAE 7 — /L (50m)

No.64 BB+ 100m EHHEF % & £54 50. 50

 8gB&E >

EhI K 4 T B 2E KE B E 50m
1 GHE8 oA SAVYT =118/ 2 53. 56 25.87  10#% ( 0.60)
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3 T FEX ;IR &2 18/ 7 54. 81 26.17  9%% ( 0.64)
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5 V&) Fkst S AHZ =1 18/ 8 55.13 26.10 9% ( 0.64)
6 ILE & NIV B E3 19/ 7 55. 45 26.66 8% ( 0.62)
7T ARk J S SiEH =3 18/ 5 55. 65 26.61 8% ( 0.61)
8 tex KEE J S SiFEM =3 18/ 3 55. 71 26.66 8%k ( 0.68)
9 ML BREA Zip¥WE =3 17/ 3 55. 85 26.80 8% ( 0.74)
10 4 # WAREYI=ES =3 17/ 5 56. 18 26.94 8k ( 0.64)
11 Ry & J S SiEM =2 18/ 6 56. 48 2111 8%% ( 0.64)
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14 T 163+ AMVALIRIRAE &3 17/ 4 57.80 27.30  T#k ( 0.65)
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16 AH FEdk A4 b~ HEE &2 18/ 4 58.13 27.84 7% ( 0.73)
17 EFME KRR Aa—L T @1 15/ 8 58.25 27.93  T#k ( 0.69)
18 ZRIM]  HME SAY—F =3 16/ 2 58.39 28.43  T#k ( 0.69)
19 (h#H A SAYVIT =l 17/ 7 58. 44 27.80 7% ( 0.65)
20 AKAT FESE JFH A =2 13/ 2 58. 64 27.97  T#% ( 0.59)
21 HikE R T/ NIVEEDL =1 11/ 5 58. 74 28.31  7#% ( 0.76)
22 pH  1KE FIEE S C =1 14/ 3 58. 87 27.28  T#k ( 0.69)
23 NN FR T S SR =1 15/ 5 59.12 28.13 7% ( 0.81)
24 MO s A R—2SC =1 16/ 3 59. 21 28.20  T#k ( 0.71)
25 FESF AR JFHS A =1 13/ 5 59. 48 27.95  T#Hk ( 0.62)
26 A FA = <) =1 14/ 4 59. 67 27.92  T#k ( 0.66)
27 JEH P SAH% =2 15/ 4 1:00.18 28.40 6% ( 0.69)
28 S ek HENS C =2 12/ 6 1:00. 21 28.49 6% ( 0.67)
29 il fEE Z i pZEfl =2 10/ 2 1:00. 24 28.69 6% ( 0.70)
30 Vefg fEE IWAEYASES =2 14/ 7 1:00. 35 28.84  6fk ( 0.69)
31 =N I/ RLBRRAE Em2 156/ 1 1:00.72 28.30  6f% ( 0.68)
32 K #HZE HEN S C =3 12/ 8 1:00. 80 26.47  5%% ( 0.66)
33 Il FnAr o IHALEE ml 12/ 7 1:01.10 28.67  6f% ( 0.73)
34 PR EA =Ny I H 11 =114/ 1 1:01.27 28.83 68 ( 0.74)
35 IR HEKR 2y =2 9/ 1 1:01.46 28.86  6f% ( 0.63)
36 H SAH% =2 12/ 1 1:01.55 29.23 6% ( 0.69)
37 R —H Z2Za— LT &1 11/ 2 1:01.56 28.95 6% ( 0.66)
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